Lesson 9.4: Applications of Systems of Equations

The su-r;-of two numbers is 7 and the difference of their is 21. Find the
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The product of two numbers is 10 and the su:h of th' =sgulares is 29. Find
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the numbers.
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The difference of two s is the same as their product, and the sum of
_
thejr reciprocals is 5. Find the numbers.
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The perimeter of a rectangle is 36 inches and its area is 24 square inches.
What are its dimensions?



@3 rectangular piece of cardboard, whose area is 216 sguare centimeters, is

made into a cylindrical tube by joining together two sides of the rectangle.
If the tube is to have a volume of 224 cubic centimeters, what size
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cardboard should you start with?




